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1 A, B, Cand D are points on the circumference of a circle with centre O.

Angle ABD = 81°
Angle BDC = 42°

(a) Work out the size of angle CAB.

-
[\)

(b) Work out the size of angle ACD.

(c) Work out the size of angle AEB.

(d) Work out the size of angle BEC.

o
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(Total for Question 1 is 4 marks)
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2 A, Band C are points on the circumference of a circle with centre O.

A

I~\C
B

Angle ABC = 79°

(a) Work out the size of angle CAB.

||

(b) Give a reason for your answer to part (a)

The anale in o semucirele i A0°

Ang\esu Q. hriu.ns.\.&......u.dd Lo, \8D°

(Total for Question 2 is 2 marks)

3 A Band C are points on the circumference of a circle with centre O.

Angle CAB = 29°

(a) Work out the size of angle COB.

(b) Give a reason for your answer to part (a)

The anale aX the cemkie is Lorce. the

¥ R R R

L ongle. ok e crcamCeence.

(Total for Question 3 is 2 marks)
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4 A, B, Cand D are points on the circumference of a circle with centre O.

Angle ADC = 96° ﬁ

Angle BCD = 115° — ¢
D

(a) Work out the size of angle ABC.

(b) Give a reason for your answer to part (a)

01; ?osim ...... sm&\es ‘uon Q LdL\..'!..Q. ........ %ua&ri\altml
add. 0 120

(Total for Question 4 is 2 marks)
5 A, B, and C are points on the circumference of a circle with centre O.

AB is the tangent to the circle at point C.
A

(a) Write down the size of angle OCB.

(b) Give a reason for your answer to part (a)

A tangent meete o voadive ok 907

(Total for Question 5 is 2 marks)
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6 A, B, Cand D are points on the circumference of a circle with centre O.

A

Angle DAC = 68°
Angle ADO = 45°

Work out the size of angle ABC.
Give reasons for each stage of your working.

Angle DOC= 136°

The w\a\e aX the wmlrie is bwice the
ongle ok the  groumCeurence.

Angle ODC = Angle OCD = &%

?:ase, ang\es in an icoscedec tnangle we “[,““L

ﬁhg\t ADC= &+ 4S
- 67
hn&\& ARC= 180~ 67
= |13
DR?osn’fQ QV\S\ES n Q (,d(,\ WO %ua&r\\ahfa.\-
add WO 180’

|13

(Total for Question 6 is 4 marks)
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7 A, B, Cand D are points on the circumference of a circle with centre O.
EF is the tangent to the circle at point D.

Angle ACD = 84°
Angle CDF =53°

Work out the size of angle ABC.
Give reasons for each stage of your working.

Angle DAC - S

Alternate sejme,nb b\ne.orem,
An\c)]e, ADC = 43° o
An&\cs ina tﬁwd\e. adck o 180

Mngle ABC= 180 - 473
3 = |1?‘°

03?053*% cmg\es n Q c,d(,\io c\’ua&r{\altm\.
add O 120

123

(Total for Question 7 is 4 marks)
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8 A, B, and C are points on the circumference of a circle with centre O.

Angle AOB = 130°

Work out the size of angle ACB.
Give reasons for each stage of your working.

Angle APD = 65°
-“\Qa Qf\é\& X t\ne (LV\,J(J?, 'S buo\‘ce, e
on & ab the greumCuence.

Ana\& ABC= 180-6S
= |\S
OR?osi’f% m\S\es n Q (,d(,\io %ua&ri\ahfal

add (O |20

|15

(Total for Question 8 is 3 marks)
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9 A, B, Cand D are points on the circumference of a circle with centre O.

Angle BAD =79°
BA =BD
Lines AB and DC are parallel.

Work out the size of angle DBC.
Give reasons for each stage of your working.

Angle BAD = Angle EDA =34
EGSQ, ang\es in an isoscedes bnangle we %ML
Ar@]e ARD =11° o

Pm&\cs ina tﬁmvdla adck o 180

Ana\& BDC = Angle ABD

Alternake angles are ?.(tuo.k

hn&\& ABC= \80-41
= 123
03?09.’& ung\es n o (’d(’\ ¢ c\’m&n\mm
add W 180
P\r@]e DRC =53°

Ana\cs n o hicw:jle. adch bo 80

- ot
| (Total for Question 9 is 5 marks)
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10 A, B and C are points on the circumference of a circle with centre O.

D ?

Angle CBO = 27° B

Work out the size of angle BAC.
Give reasons for each stage of your working.

Angle CRE = 40 - X3
= 630

A‘\'ﬂv\geui meeks o radine ok 40

Ana\e, WC = 6%
Alternate sey men Hiheorem,

(Total for Question 10 is 3 marks)
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11 Cand E are points on the circumference of a circle with centre O.

AB and AD are tangents to the circle at C and E.

Angle EAC = 70°

(a) Work out the size of angle COE.

Ah\(’\t AgD = An{’\Q., ACO =90°

P(‘hv\geuk meeks o
Angle COE-= nwo’ N\a\e

OC=5cm

(b) Work out the length of CA.
Give your answer to 1 decimal place.

A%le CAD = 25°
A C

19°

Sem

0

9

radius ok 40°
¢ ‘na quodn laktral

add to~ 10° V(O
2)
J(af\(;'as) =S
CA
CA=_° _
{-pn('.'os\

(2)

(Total for Question 11 is 4 marks)
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12 A and B are points on the circumference of a circle with centre O.

DC and EC are tangents to the circle at A and B.
223:2 BAr  gee [MSN\S not rg(‘m'ml in Thig Q_J
Work out the size of angle FBC.
Angle Ao = 126 A tungeuk meeks o radine ok q0
and angles tn a, c‘/uadﬁ\akero.k ad.d ko 260’
Angle ARD = Angle Bp0 = 22°
Rase uv\g\e.s inan isosceles ’tﬁung\% ue %“AL
ﬂn&\& APD - 6R°
The angle aX the wnkie is bwice he
onge ol the droumfeence.
Ange AFB = \2L.°
0’{?053*% cma\es n Q cﬂ(,\"o %uo.&ri\al'efa.\-

add O 120 o
Angle ABF= 43 Anges in o bniangle 0dd tp 180

Anale Fic= 1S 0
"g* 5 o radine x40 Q_S

| P‘ ‘W‘&N: m (Total for Question 12 is 4 marks)
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13 A, B and C are points on the circumference of a circle with centre O.

EF is the tangent to the circle at C.
Angle ACE =73°

Angle FAB =5 x Angle CAF
[MSMS not Cequi red in this Q_J

Work out the size of angle AFC.
Angle RAC= qQ0° The uV\O\L i o sermutircle s A0°
Q0-6=1\S
Angle CAF= 'S o
AY\S\L gce=aov prgle HCB=13
A"'ﬂhgeuk meeks o radius ok 407
Angly APC= 48" Angles in o brangie sl to 130"
9“0\'* CPF = 32 R"a\l-‘» ono stmualvt kne add b \Q0"

Pngle AFC=52° Angles in o briangle odd. to 120’

S8

(Total for Question 13 is 4 marks)
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14 A, B and C are points on the circumference of a circle with centre O.

( ‘ 3‘

]

DE and FG are tangents to the circle at A and B that intersect at the point P.

Angle APB = 78° - ‘
[Rmsms not requived in this (S_\
(a) Work out the size of angle ACB.

Ane\t- H‘DQ: lO'Z,o A—-‘—uv\se“k W\eeks o m(!\.lks (Lt qoo
and ana\f.-s ih a c‘/uadﬁ\d‘trd adde to 20’
Angle #ct = oI’ Anght ok the circumterence

holf v ongle ok the cenire, S |
(2)

(b) Work out the size of angle ABP.
Angle AL = Angle Ra0 =1 °
Rage angles in an icoscdee Inangle we u"ml,

Pan\Q, ARP =90 - 34
=

A hnazuk meeks o radivs ok Q0"

(2)
(Total for Question 14 is 4 marks)
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15

A, B, C and D are points on the circumference of a circle.
ABCD is a trapezium with AB parallel to DC.

AB=AC

[Reusms not requxm\ in This (S_\

Work out the size of angle DAC.
You must show all your working.

Ve +2 + 3 -8 =180°
Op Posd'e- w\gles in o cac.l.\c o‘luadn\a*era.l-
addl o (80°

O -6 = 180 1(31)+ 2:95
6= 186 -89

£z 3°
Angle RCB= Angle ABL = 25
Angle CAB = \0° {\M\Qs in 0 briongle odc tp 120°
Prgle DCA- fingle CAD alernate angles tre tg vl

hh@\(’- DhC= FS° -Pmales ina thav@k. add ‘|’0I20
+S

(Total for Question 15 is 5 marks)
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16
C
B
_ 0
i\ ¢ - -7
\:\-\"\ - - 5x -7
A" _ -7
X +77 \10 c
D
2© =\v
=

B and D are points on the circumference of a circle, centre O.

ABC and ADE are tangents to the circle. ‘
[Rmms not reqw fed in this 6_\

(@) Work out value of x.
You must show all your working.

fngle Rod = 2(Sa-%F) O -4 = llolx -3

; Ox -4=- [Fi-x
()L\Mu, angle ok Circum ference) \Ox o= 187
Angle ROD = 180 - ber 7Y x= |F

(ongles in o"uatlr\ \aterah add to 3(0)

AD =30 cm

(b) Work out the radius of the circle.
Give your answer to three significant figures.

BAD= W °  tan(1): 02
O Ad= 1} 30

N W D D E 30 tan (1)

633

(Total for Question 17 is 6 marks)
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